*ATOMIC RADIUS__________________

The radius of an atom is the distance from the nucleus to the outermost electrons. 

>> PERIODIC TABLE FROM: LEFT TO RIGHT

From left to right, each successive element has one more proton in the nucleus and one more electron in the outer s or p subshell. All of the electrons of the outer shell, including the added electron, feel an increased electrostatic attraction for the higher nuclear charge. This results in a general shrinkage in the size of the atoms as the outer s and p subshells are filling. Electrons between the nucleus and the outer electrons shield nuclear charge from the outer electrons. Electrons in the same shell do not shield each other from the nuclear attraction.

Effective nuclear charge is an important factor in explaining the decrease in atomic size from left to right across a given period (or row). The increases in the effective charge leads to increased electrostatic forces of attraction between the electrons and the nucleus. The result is that the electrons are drawn closer to the nucleus, and the size of the atoms decreases across a given period. 

Remember: as we go across a period, we are adding electrons to the same principal energy level. The atoms do not get bigger across a period because we are also adding protons to the nucleus as we move across a period. The additional protons in the positive nucleus pull electrons closer to the nucleus despite the repulsive forces they feel with other electrons, resulting in smaller atoms across a period. 


